Apartment in Sliema



Reference No: 240471014-1096

Sliema, Sliema and St Julians Surroundings



€850,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): **125**

P☐ Bedrooms: 2

Apartment - For Sale - Sliema

Immaculately finished apartment forming part of an exclusive SEAFRONT development. Accommodation in the form of a kitchen living area with combined dining, leading to a front terrace capturing totally unobstructed south facing sea views. 2 bedrooms two with ensuite, a master bathroom. Also, an additional back terrace. Property can be sold all open plan as an office . Truly unique brand new luxury apartment. Property needs to be seen to be fully appreciated

Features

- ✓ Lift
- Video Hall Porter
- 3 Phase Electricity
- Double Glazed

- Ceramic Floor
- En Suite
- Skirting
- Terrace

Rooms

Kitchen/Living/Dining: 8.46 x 7.13 m (60.32 m2)

Double Bedroom: 3.62 x 3.02 m (10.93 m2)

Double Bedroom: 5.85 x 2.79 m (16.32 m2)

Bathroom: 2.82 x 1.69 m (4.77 m2)

Shower Ensuite : 1.6 x 1.69 m (2.7 m2)

Open Space : 2.5 x 5.85 m (14.63 m2)

Open Space : 4.3 x 1.3 m (5.59 m2)

Gallery









Mark Micallef RE/MAX Luxe - Sliema

M: 99423070

E: mmicallef@remax.com.mt

T: 27992796

RE/MAX Luxe - Sliema 58, Tigne Seafront, Sliema, Malta